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JEEERR (Trehalase, THL) iXFIEIREAH

HMESE 100 B/48 ¥
IEFVNEBTF A 2-3 PNRHEAZE R B HIRE A TN E
MEENX :
THL (EC3.2.1.28) | ZAA7ET 8. Y. WA=t . W aEpEng = IR T
AR o e S W A ST A B T LR FH T RE R R
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PRHUR: WA S0mLx1 i, 4°CIRAE;
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WA= AR 10mix1 i, 4°CHRAF; CGEHIMEEUKING, 7] 37°C/KBHEREH D
FE G ZE B
1. U AL EE : UCAEAN B s A P B B0V N, B0 3 B3 TR TR skt iR S
(10* s FREUGREAF (mL) 9 500~1000: 1KLL L 500 J5 40 B4 N 1mL 2
HORD, 8P A B B4 (UK, DR 20% 8L 200W, S 3S, [HFE 10S, EE 30
7); 8000g, 4°CES.C» 10min, HU L, Bk AR,
2. HEARAE: HBALE () FEIGHAF(ML)A 1: 5~10 FILH] CRIFRELZ) 0.1g
L, N ImL $2EURD, VKB ThAI3%. 8000g , 4°CES .0y 10min, B i, BIK AR,
3. MG GO KAHEE: IR G AR (mL): 3REGBAR(mL)A 1: 5~10 [FEHE) (&
WHL 0.1mL 1f1iE CGF) I ImL $2H0GR), #KiBH213%. 8000g , 4°CE.Ly 10min, HX i,
BUK LRI,
ME LB
1. e T B BEAR A T 30min BA_E, 9K A 505n0m, ZEM/KIHZE,
2. TR EAE 95 .
3. TAEMAECH]: A R AR s AR = 1 S RRNR S, HZ bR,
4, IMEERR:

RANLZFE (L) X R e &
FEA 30 30
7RIEK 50
R — 50

45°C/K¥, HERAR . 15min, 95°C/KG 5 7rep &1t e, #3RAWGE HBLDTHERT 10000g
4°C B0 10min J5HL %)«
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| AR | 180 | 180 |
R, B 37°C UEFAEY) 8 25'C GLEa) fRi 15min J5, T 505nm A Ab 52
R THE AA=A M E-A XIE . BNIEETFER—DARE .
THL &Nt E:
a  AMEAE A ILNERIHEAR T
1 FRUE A I 5E (A1 528 y = 0.4858x - 0.0042, R2 = 0.9999; x 1 F & & (umol/mL),
y AMIGAE .
2. HBEAWE A
AL E S R mg VR VR EE AR Inmol &5 HE 8 SCA—ANERE F1 AT
THL 3% /J(nmol/min/mg prot)=(AA+0.0042) +0.4858xV J &+(V FExCpr)+Tx1000
=366x (AA+0.0042) +Cpr

3. AR EEER A

BRI X B g AR e L= 2E Inmol 8 &8 & SUN— BT 71 847

THL 3 /7 (nmol/min/g % 5)=(AA+0.0042) +0.4858xV S is+(W xV #£+V FEiE) =Tx1000
=366x(AA+0.0042)+W

4. TR BAE M FETHE

BALIE X B 1 A SH T B B A 2 e A ™= 2E 1nmol 1 45 K5 52 O — /NS 77 BT

THL % 77(nmol/min/10* cell)=(AA+0.0042) +0.4858xV K :+(500 xV £V ¥ i) +Tx1000

=0.732x(AA+0.0042)

5. Mg GO HBHE

BAL)E X B mL 9E R BBk Tnmol %08 & SN — MBS 71 547

THL 3% /7 (nmol/min/mL)=(AA+0.0042) +0.4858xV (V] xV F+V FEiE) =Tx1000
=3660x(AA+0.0042)

VA IIAREAER: 0.03mL; V AEE: MARRBIGEAR, 1 mL; VRE: KR

L, 0.08mL; V K MIAIMLE ) AFL, 0.1mL; Cpr: HEAEAFKE, mg/mL; W:

FEAJRE, g 500 HEEAMASE, 500 J5; T: SMHE, 15min;

b.F 96 FLARM E KITHE AR T

1 ARHE S R 5E B 5 FE A y = 0.2429x - 0.0042, R2 = 0.9999; x AbR#E F: K (umol/mL),

y NOGAE .

2. HBEAWE A

AL E X B mg HEVE AR B A2 A2 Inmol 1 & BE & SN — MBS 71 54

THL 3% /J(nmol/min/mg prot)=(AA+0.0042) +0.2429xV Jz 2+(V FExCpr)+Tx1000

=732x (AA+0.0042) ~Cpr

3. HEMEAREEER A

BRI X B g AR e L= 2E Inmol 8 &8 & SUN— BT 71 847

THL 3 J7(nmol/min/g % 5)=(AA+0.0042) +0.2429xV Jis+(W xV #£+V FEiE) =Tx1000
=732x(AA+0.0042)+W

4. TR BAE M PR

BAL)E X B 1 A SH T B B A 2 e A ™= 2E 1nmol 1 45 5 58 O — /MRS 7 B

THL % 77(nmol/min/10* cell)=(AA+0.0042) +0.2429xV K :+(500 xV £V B i) +Tx 1000

=1.464x(AA+0.0042)
5. g GO HBHE
BAL)E X B mL 9E R BBk Tnmol %08 & SN — MBS 71547
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THL 3 /7 (nmol/min/mL)=(AA+0.0042) +0.2429xV (V] xV F+V FEE) =Tx1000
=7320x(AA+0.0042)

VA IIAREAER: 0.03mL; V AEE: MARRBGEAR, 1 mL; VRAE: REE R

1, 0.08mL; V ¥ MIAIMLE ) AR, 0.1mL; Cpr: FEABRARKE, mg/mL; W:

FEAJRE, g 500 HEEAMAE, 500 J5; T: SMHE, 15min;

T EE: 0512-62956165  HiAR 7 HE: 18015581827  HEJFHE1%: 18112525205



